AN

> H n N 5 n 581491130067 HANSAUNITA - Regenbrause-Duscharmatur

EAN: 4015474268357
static.hansa.com/581491130067

Ersatzteile
SP581491130067
Name Art.-Nr.

1 Duschrohr Chrom 59913810
11 Kopfbrause, 200x200 mm Chrom 59913873
13 Diisenplatte, 200200 mm, (-2019) 59913874
15 Durchflussbegrenzer 59913753
16 Schraube 59913754
110 0-Ringsatz 59913808
m Duschrohr Chrom 59913858
112 Mutter 59913821
113 0-Ringsatz 59913808
2 Wandbefestigung Chrom 59913859
21 Befestigungssatz 59913812
3 Schieber Chrom 59913755
31 Schraube, M5x8, SW2.5 59904755
42 Sieb 59906859
45 Dichtungsring, d 21x12x2 59912304
5 Umstellkorper komplett 59913857
5.1 0-Ring, d 3x1.5 59913100
52 Stift, M6, 21 mm Chrom 59913284
53 Griff 59913817
5.4 Spann-Mutter, M37x1, AF30 59912111
5.5 Umstellung 59913818
5.6 Adapter Weiss 59910235
57 Riickschlagventil 59905714
6 Brausebatterie, (-2018) 59913856
6.1 Anschlussmutter, G3/4, AF30 59902230
6.2 Nippel 59911075
6.3 Haltering, 23.9x15.2x2 59902689
6.4 Schmutzfilter, G3/4 59911076
7 Exzenter-Anschluss, G3/4xG1/2, DN15 59910254
72 Schalldampfer 59904792
74 Rosette Chrom 59913432
75 Abdeckhiilse Chrom 59912651
8 Absperrgriff Chrom 59913854
8.1 Abdeckung 59913850
8.2 Schraube, M4x8 59913851
83 Temperaturanschlag 59913465
9 Oberteil, G1/2, 180° 59911103
9.1 Ring 59913469
10 Temperatureinstellgriff Chrom 59913852
10.1 Temperaturanschlag Chrom 59913853
102 Temperaturanschlag 59913825
n Thermostatkartusche, 2.7 59913823
11 Schraube, M6x9.5 59901609
12 Gewindenippel, M10x1 59913855

© 2024 Hansa Armaturen GmbH - www.hansa.com - 09.07.2024


https://static.hansa.com/581491130067

Ersatzteile
SP58130101(2018)
Name Art.-Nr.
01 Mengen-Einstell-Griff 59914208
02 Oberteil, G1/2 59914207
@ 3 03 Schmutzfilter, G3/4 59911076
w@ % O/\. 04 Temperatur-Wahlgriff Chrom 602062V
5 - (m 05 Thermostatkartusche, 3.4 59914114
2

© 2024 Hansa Armaturen GmbH - www.hansa.com - 09.07.2024



